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(REGULATIONS 2007)
Time : Three hours h Maximum : 100 marks
Answer ALL questions.

PART A'— (10 x 2 = 20 marks)

1. What is the difference between Networked OS and
Distributed OS? .~

2. What is non-preemptive scheduling?

3. List out the criteria for comparing CPU scheduling
algorithms?

4. Name the status of process. Draw process state diagram.

5.  Define Deadlock.
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What is the difference between a Page and a Segm:
What do you mean by Thrashing?

What is Page fault?

List out the types of operations handled in a file sy

Define seek time and latency time for a Hard disl
mechanism.

PART B — (5 x 16 =80 marks)

(8 () What| arethe differences between
Messages and Monitors? Give an exa
each of them along with its application.

(i) . List and discuss the types of syste
provided by the operatmg system ur
following :

[6h} \ Process Control
(2) File Manipulation.

Or

(b) Assume thé following process arrive for exec
the time indicated and mention with the 1
CPU burst time given in milliseconds.

Job Burst Time (ms) Priority Arrival T

P1 7 5 0
P2 4 2 0
P3 5 4 1
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(a)

®)

(@

Job Burst Time (ms) Priority Arrival Time (ms)

P4
P5

@

2 1 1
1 3 1

Present a Gantt Chart illustrating the
execution of these process using FCFS,

Round Robin (Quantum = 4 ) and Priority
(Pre emptive and non-preemptive) (8)

(i) Calculate the average waiting time and
average turn around time for each of the above
scheduling algorithm. ®

Write a Producer — Consumer algorithm to allow all

buffers to be utilized fully. 16)

Or
() Briefly explain the three conditions that a

(i)

@

(i)

solution to be critical section problem. 8

With a relevant example discuss any one
preemptive ,i and  non-preemptive  CPU
scheduling/algorithms. (8)

What are the necessary conditions for a
deadlock situation to arise? )

Explain the Banker's deadlock avoidance. (12)

Or

;
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(b}

(a)

®

(a)

®)

Give five memory partition of 100 KB, 5(
200 KB, 300 KB and 600 KB (in order), how
each of the first-fit, best-fit and worst-fit alg
place processes of 212 KB, 417 KB, 112 K
426 KB (in order). Which algorithm makes t}
efficient use of memory?

@) Describe File System mounting.
(i) Discuss in detail about the two level d
structures.
© Or
Explain briefly about the various Page Repl
algorithm with illustrations."

(@ Explain the FCFS and SJFS Disk Sl
algorithms with an example.

i) Discuss in detail about the process sC
in Linux System.
N . . Or
@) Explain'different file access method in

(ii) Compare and Contrast of Fre
management and Swap space manage





